
  

31 Jan. 2013

 plot a hodograph for today's 12Z Stony Plain sounding. 

 Identify (draw on your hodograph) the thermal wind VT,700-850 , and 
comment on the relationship between your thermal wind vector and the 
isotherm pattern at the 850 hPa and 700 hPa levels

 
Note: 1 m s-1 = 1.94 ≈ 2 knots (you may use either unit) 

 Identify on the 12Z surface analysis the highest (largest) rate of change of 
surface pressure (Pa s-1) occurring on the Canadian prairies (enumerated 
as the pressure change, in tenths of one hPa, in past 3 hrs). Using the 
omega-w relationship, compute the implied value of the vertical velocity

Activities

● Continuity equation in the isobaric coordinate system. Meaning of 
Laplacian operator (demo – heat eqn in 2 space dimensions)

Exercise – please submit



  



  



  

warm

cold The thermal wind vector 
(between 850 hPa and 700 hPa 
levels) has been added in red, 
and the red dashed line shows 
the theoretical orientation of 
isotherms (asuming the 
atmosphere to be in thermal 
wind balance)

– see over for observed 
orientation of isotherms

(Added after class)
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